



Nom: _____

Date: _____ Note: _____

$$4,7 + 5(2,3 + \frac{3}{2}) =$$

$$(\frac{2}{5} + \frac{1}{4}) \times 5 - \frac{1}{5} =$$

$$12(\frac{3}{2} - 4,3) \div 3 \times 2 - \frac{1}{4} =$$

$$\frac{1}{3} - 2(\frac{1}{3} + \frac{1}{2}) =$$

$$4,4 + 5(2,8 - \frac{1}{2}) =$$

$$(\frac{1}{3} + \frac{1}{5}) \times 5 - 2,3 =$$

$$\frac{2}{5} \times 8 \div 2 + 4(\frac{1}{4} + \frac{3}{2}) =$$

$$(\frac{2}{5} - 2,7) \times 5 - \frac{1}{2} =$$

$$\frac{1}{4} - 4(4,4 + 5,4) =$$

$$(\frac{1}{5} - 3,5) \times 2 + 5,7 =$$



Nom: _____

Date: _____ Note: _____

$$4,7 + 5(2,3 + \frac{3}{2}) = \frac{237}{10} = 23\frac{7}{10}$$

$$(\frac{2}{5} + \frac{1}{4}) \times 5 - \frac{1}{5} = \frac{61}{20} = 3\frac{1}{20}$$

$$12(\frac{3}{2} - 4,3) \div 3 \times 2 - \frac{1}{4} = (-\frac{453}{20}) = (-22\frac{13}{20})$$

$$\frac{1}{3} - 2(\frac{1}{3} + \frac{1}{2}) = (-\frac{4}{3}) = (-1\frac{1}{3})$$

$$4,4 + 5(2,8 - \frac{1}{2}) = \frac{159}{10} = 15\frac{9}{10}$$

$$(\frac{1}{3} + \frac{1}{5}) \times 5 - 2,3 = \frac{11}{30}$$

$$\frac{2}{5} \times 8 \div 2 + 4(\frac{1}{4} + \frac{3}{2}) = \frac{43}{5} = 8\frac{3}{5}$$

$$(\frac{2}{5} - 2,7) \times 5 - \frac{1}{2} = (-12)$$

$$\frac{1}{4} - 4(4,4 + 5,4) = (-\frac{779}{20}) = (-38\frac{19}{20})$$

$$(\frac{1}{5} - 3,5) \times 2 + 5,7 = (-\frac{9}{10})$$